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1. Berechne die Losungsmenge:
Aufgabe Ldsung
a) ~3x+9<6 L={x|x=>1}
b) ~2x+8<10
c) 3x+5>17
d) —4x-12>8
e) —2+6x> -5
f) —20-2x > -50
) 10 —4x = 10
h) 22+6x =25
2. Berechne die Losungsmenge:
Aufgabe Ldsung
a) | ~4x-2+6x>5x-5 L={x|x=<1}
b) 7x+2-x>54+x
C) Ox—-6=4x+9
d) ¥x—8+7x=10x-4
e) -2{(x-3)<-6x-4
f) 5(x-5+3<-2(-1+x)-3
9) 2(4x-6)—x>=—-(3+2x)
h) —4{—x+2)+5x>-8(1-x)
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3. Berechne die Losungsmenge:
Aufgabe Ldsung
a) | (x-Dx+2)>(1-x)7 L={x[x>1}

b) (x+3)(x—4) = (x+2)°

c) 2x+ 17 <(x+2)(4x-1)
d) (Bx-27>(3x+2)(3x-4)
e) (5x+4)7° >25x" -8
f) (x+1)¥ =x"-6x+5

o)) (x+7)° > x° — 49
h) (x+9)* < (x—8)*

4. Berechne die Losungsmenge:

Aufgabe Losung
a) | 2-365x-4+D>4x+3)+9 L={x|x<2}
b) —4(x-2(3x-5)<Bx—4

c) 6E—(2x—3(x-1))<4x-9
d) 1-(4+2(x—1))<-x-4+2x

e) | —(1+2(x-1%)=-2(x—-3)(x+2)

f) 23x-47-1=(9x-3)(2x+2)+7

9) 3(2x+3)7 1< 4x-1(3x+2)4+x+1
h) —2(3x+3)* -5<(9x—1)(-2x+1)+25
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1. Berechne die Losungsmenge:
Aufgabe Ldsung
a) ~3x+9<6 L={x|x=> 1}
b) —2x+8<=10 L={x|x>-1}
c) | 3x+5=17 L={x|[x>4}
d) ~4x-12>8 L={x|x=<-5}
e) —24+6x>-5 L={x|x>-05}
f) ~20-2x > —50 L={x|x<15}
g) | 10-4x=10 L={x|x =0}
h) | 22+6x=25 L={x|x =0,5}
2. Berechne die Losungsmenge:
Aufgabe Ldsung

a) | —4x-2+6x>5x-5 L={x|x<1}
b) Tx+2-x>5+x ]L:{X|X} [},6}
c) Ox—6=4x+09 L={x|x =3}
d) x-8+7x=10x—-4 ]L={X|X 2-2}
e) —2(x-3)<—6x—4 L={x|x=<-25}
f) 5(x-5)+3<-2(-1+x)—3 L={x|x=<3}
g | 24x-6)-x>—(3+2x) L={x|x>1}
h) —4(-x+2)+5x>-8(1-x) L={x|x=>0}
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3. Berechne die Losungsmenge:

Aufgabe Losung
a) | -+ >(1-x7 L={x|x>1}
b) (x+3)(x—4) = (x+2)° L={x|x=z-32
c) 2x+ 17 <(x+2)(4x-1) L={x|x=>1}
d | Bx-2%>Ex+2(3x-4 L={x|x=2}
e) | Gx+4°®>25x" -8 L={x|x =-0,6}
f) (x+ 1) >x" —6x+5 L={x|x=> 0,5}
g) (x+7)% = x* —49 L={x|x=>-T7}
h) (x+9)% < (x - 8)° L={x|x=<-0,5}
4. Berechne die Losungsmenge:

Aufgabe Lésung
a) 2-35x-dH+D>4(x+3)+9 L={x|x=2}
b) —4(x-2(3x-5)<8x-4 L={x|x=<3}
c) | 6-(2x-3(x-1)<4x-9 L={x|x=>4}
d) | 1-(4+2(x—1)<-x-44+2x L={x|x>1}
e) —(1+2(x-1%) = -2(x-3)(x+2) L={x|x =75}
f) 2(3x-47-1=(9x-3(2x+2)+7 L={x|x =0,5}
9 [3@2x+3°-1<@x-1Bx+2+x+1 | L={x|x=<-09}
h) | —2(3x+3°-5<@x-D(-2x+1+25 | L={x|x> -1}
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